> A
N & 0l & Av S Z M A
20158 =3 2 3] LE ) EE ~ EFH
SN BES
M ARDSXY Y
Sl FOBMOAANL BB EERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
SES 977,516 892,516 85,000
22X OHE 740,000 655,000 85,000
FRHEOANLE &= 740,000 655,000 85,000
A8 LU= ALY 640,000 555,000 85,000
401 AIEHI L 20 640,000 555,000 85,000
01 A& HI 633,700 549,456 84,244
OQ= Ler2FINL AL 29,676,000& 29,676 0 29,676
2= H=ANAZHIAY 19,784,000 19,784 0 19,784
OHZE HelddEH A 19,784,000& 19,784 0 19,784
O"8E NAZFHA 15,000, 000& 15,000 0 15,000
03 Al S HHI 6,300 5,544 756
Ool=s LeraF LA
30,000,000% x1.08/100 324 0 324
O2= A= M EBIAES
20,000, 000% *1.08/100 216 0 216
OgE OeclddEBIAE
20,000, 000% *1.08/100 216 0 216
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> A
A & 0l & AF 2 E A A
20158 =3 2 3] LE ) EE ~ EFH
2N B
M AR XNIEHY
Sol: FOBOIAL 25 (eol:@e)
SA-EB - BAEH) - NRAY - BHES 0 4t o4 p/E-F HIDE2
Sote 712,232 682,232 30,000
22 KGRy 542,181 512,181 30,000
FRHEOANLE &= 542,181 512,181 30,000
A2 U= ALY 430,000 400,000 30,000
401 AIEHI L 20 430,000 400,000 30,000
01 A& HI 425,356 395,680 29,676
OSiE = sZ2ZEZHIA 29,676,000 29,676 0 29,676
03 AlE SR THHI 4,644 4,320 324
O8UE =8 SZ2EHEIA
30,000,000% *1.08/100 324 0 324
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E 0 & AFHE®E B M A

20158 =& 2 3 Let3|H SEE ~ o
SA: DoH
Ha: ARQ UYL
©@Hel: FUEHAANE BF (22 &d)
2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 I E M Husz
QA 741,348 691,348 50,000
28 XFEHeg 570,000 520,000 50,000
FUEYAE &F 570,000 520,000 50,000
A8 LU= ALY 470,000 420,000 50,000
401 AIEHIZ 2 CHYI 470,000 420,000 50,000
01 A& HI 465,464 415,464 50,000
OJI0FOLE JtoFE EHHIS AL 20,000,000& 20,000 0 20,000
Ou= 2 sZ2EZEH 3 A 15,000,000 15,000 0 15,000
OH4 X0 dEHEE S A 15,000,000& 15,000 0 15,000
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= A
N & 0l & AF & & A A
015HE £ 2 3 YB3 BAS ~ SFO
=M Jtope
HE: ARD KGN
Sl FOIEOAL =5 (er:@e)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
o} 0t & 803,650 768,650 35,000
AR XN 585,000 550,000 35,000
FOUBANL &5 585,000 550,000 35,000
A2 FE=E MY 485,000 450,000 35,000
401 Al HI L2 Thbl 485,000 450,000 35,000
01 Al Hl 480,194 445,410 34,784
OA17 022 STZTA 19,784,000 19,784 0 19,784
OO0FE2T 42 ¥ SZEIHBA
5,000,0002 15,000 0 15,000
03 Al& 2 0hH] 4,806 4,590 216
OZ&D DS HTFTA
20,000,000 *1.08/100 216 0 216
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= A
N & 0l & AF & & A A
P0ISHE £ 2 8 YLEH BHS ~ SFH
SN OF2 S
Ha: AR NN
Sol: FOBOIAL 25 (2@ d)
£ - HA(ZAH) - NRAMY - BES Off &t 24 INEH Husz
VL] 763,452 748,452 15,000
ARSI 575,000 560,000 15,000
FOIHOIANL =5 575,000 560,000 15,000
ARD FOUXE AL 475,000 460,000 15,000
401 A& Bl L= CH bl 475,000 460,000 15,000
01 Al Hl 470,194 455,194 5,000
OES 48X F# SZEIZBAN
5,000,002 5,000 0 5,000
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= A
N = 0 &8 AFH Y & A AN
20158 =& 2 3 U3 &g ~ EFH
SN 82
MM ARD XS
S FUHOYAIL &= (e &)
2 A .2 () - HEMNY - BHES 0] AFoH Iy H HnE2
22¢ 799,123 759,123 40,000
ARD XSy 602, 181 562, 181 40,000
ZOIEHOIAL &5 602, 181 562, 181 40,000
ARE D=2 ALY 490,000 450,000 40,000
401 AlEHIZ =20 490,000 450,000 40,000
01 Al&H| 485,302 445,734 39,568
SAOLS SH2 EHIZ A 19,784,000 19,784 0 19,784
Qo HEHXHZA 19,784,000 19,784 0 19,784
03 Al & 2 HH 4,698 4,266 432
OFAOtE 2 HHI S A
20,000,000 *1.08/100 216 0 216
OYo? HEHXIHBAM
20,000,0002 *1.08/100 216 0 216
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— A
H = 0 AF AF S & Al A
2015 =& 2 3 B3 E§HE ~ 8FH
2K =AHH
M ARRD XEHY
S FOUEHIAE &5 (=& &)
SAH-AH -2 (SA) - HREAY - BES Ol A o4 IR Hns2
EHA 729,823 679,823 50,000
A2 XYY 562,181 512,181 50,000
FOEHOAIL &S5 562,181 512,181 50,000
A2 FO=J ALY 450,000 400,000 50,000
401 Al HI L 20 Y| 450,000 400,000 50,000
01 Al bl 445,518 396,058 49,460
RE= ZESA 19,784 ,000& 19,784 0 19,784
OJYHME U3 A 29,676,000 29,676 0 29,676
03 A& 20 bl 4,482 3,942 540
REZZ LEIZA 20,000,000 *1.08/100 216 0 216
OJYHME U3 A 30,000,000& *1.08/100 324 0 324
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E 0 & AFHE®E B M A

SRR

24 01

HE: ARD XM

ool FRIBOAL BB (e9: & 9)
2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 I E M Husz
24 3 of 689,393 654,303 35,000
ARS XN 535,000 500,000 35,000
ZOBONL B 535,000 500,000 35,000
ARD FUE AL 435,000 400,000 35,000
401 A& HI L2l 435,000 400,000 35,000
01 Al&HI 430,842 396,112 34,730
OSHE th4+2 ZHIBA 24,730,000% 24,730 0 24,730
OZSHE 42 FHIZA 10,000, 0002 10,000 0 10,000
03 Al& 2 0h 4,158 3,888 270
SYHE HAZ ZUITA

25,000,000 *1.08/100 270 0 270
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= A
N = 0 &8 AFH Y & A AN
20158 =& 2 3 U3 &g ~ EFH
SN @z
MM ARD XS
S FUHOYAIL &= (&2 &)
2 A .2 () - HEMNY - BHES 0] AFoH Iy H HnE2
H=0 661,102 641,102 20,000
ARD XSy 530,000 510,000 20,000
ZOIEHOIAL &5 530,000 510,000 20,000
ARE D=2 ALY 430,000 410,000 20,000
401 AlEHIZ =20 430,000 410,000 20,000
01 Al&H| 425,788 406,004 19,784
O/E SZ IR ZA 19,784,000 19,784 0 19,784
03 Al& 2 HH 4,212 3,996 216
OZS =2 IE ZAF 20,000,0002 +1.08/100 216 0 216
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> A
N = 0l & At & Ml A
0159 £ 2 5 YEN BAS ~ SFO
S EE-EL
B ARD KN
9l ZOIBOAL %5 CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
& o 725,030 695,030 30,000
AR XM 542,181 512, 181 30,000
FOBOAL =B 542, 181 512, 181 30,000
A8 LU= ALY 430,000 400,000 30,000
401 NEHIL 2 THYI 430,000 400,000 30,000
01 Al 425,464 395,788 29,676
OsF 2D% ¥ 52 FUIZA 29,676,000 29,676 0 29,676
03 A& S THHI 4,536 4,212 324
OsF 2D ¥ 52 IS
30,000, 0002 *1.08/ 100 324 0 324
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= A
N = 0 &8 AFH Y & A AN
20158 =& 2 3 U3 &g ~ EFH
SN HEH
MM ARD XS
CHelr ROIEOAY &E (9@ )
2 A .2 () - HEMNY - BHES 0] AFoH Iy H HnE2
=0 683,399 658,399 25,000
ARD XSy 537,181 512,181 25,000
ZOIEHOIAL &5 537,181 512,181 25,000
ARE D=2 ALY 425,000 400,000 25,000
401 AlEHIZ =20 425,000 400,000 25,000
01 Al&H| 420,410 395,680 24,730
O25E =2 HHIZA 24,730,000 24,730 0 24,730
03 Al& 2 HH 4,590 4,320 270
O=S5E =2 FHZ2AM
25,000,000 *1.08/100 270 0 270
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= A
N = 0l & At & Ml A
20158 £ 25 YN BHS ~ BFC
SN o
BE: ARD XN
9l ZOIBOAL %5 (29l & 2)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
Ch st 677,877 652,877 25,000
ATRD XS 525,000 500,000 25,000
FOBOAL =B 525,000 500,000 25,000
A8 LU= ALY 425,000 400,000 25,000
401 Al41 bl 2 = CH | 425,000 400,000 25,000
01 A&l 420,410 395,680 24,730
OUYTYTE ZALATIA 24,730,008 24,730 0 24,730
03 Al& = CH ] 4,590 4,320 270
OULHUTZ ZHHATYSA
25,000, 00024 *1.08/100 270 0 270
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= A
Nl = 0l & AF & H Al AN
20158 =& 2 3 U3 &g ~ EFH
SN B
HE: ARD K
CHelr ROIEOAY &E (9@ )
2 A .2 () - HEMNY - BHES 0] AFoH Iy H HnE2
ALLE] 751,817 726,817 25,000
ARD XSy 565,000 540,000 25,000
ZOIEHOIAL &5 565,000 540,000 25,000
ARE D=2 ALY 465,000 440,000 25,000
401 AlEHIZ =20 465,000 440,000 25,000
01 Al&H| 460,086 435,356 24,730
ODNHOIES 52 HE2A 24,730,000 24,730 0 24,730
03 Al& 2 HH 4,914 4,644 270
ONHE s2 HESAM
25,000,000 *1.08/100 270 0 270
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> A
N = 0l & At & Ml A
20158 =3 2 3] LE ) EE ~ EFH
2AM: &tH
M A2 NN
Sel: FUBEJALE &5 (Sl & &)
SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Husz
A OHH 832,413 807,413 25,000
A2 NG 592,181 567,181 25,000
FUEYAE &F 592,181 567,181 25,000
A2 FE=E MY 480,000 455,000 25,000
401 AIEHIZ 2 CHYI 480,000 455,000 25,000
01 A& HI 476,112 451,382 24,730
OXSH&EEHI S A 24,730,000& 24,730 0 24,730
03 Al 2 THHI 3,888 3,618 270
OXSHMEEEI S A 25,000,000% *1.08/100 270 0 270
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> A
N & 0l & Av S Z M A
20158 =3 2 3] LE ) EE ~ EFH
A OtaH
M AR XNIEHY
Sol: FOBOIAL 25 (eol:@e)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
te e 788,897 753,897 35,000
22 KGRy 608,614 573,614 35,000
FRHEOANLE &= 608,614 573,614 35,000
A8 LU= ALY 495,000 460,000 35,000
401 AIEHI L 20 495,000 460,000 35,000
01 A& HI 490,032 455,248 34,784
O2&0S etz ZHISA 19,784,000& 19,784 0 19,784
OJME3d =8I 15,000,000 15,000 0 15,000
03 Al S THHI 4,968 4,752 216
OO0t &€ FHISA
20,000,000% *1.08/100 216 0 216
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— A
H = 0l & AF &2 H M A
2015 =4 2 5 LE3 ) SEE ~ 2FH
2H: Hgd
HH: ARD XSHe
CHR: FOBEOAAE &5 (S HA)
SAH-AH -2 (SA) - HREAY - BES Ol A o4 IR Hns2
g o 729,559 704,559 25,000
A2 XYY 565,000 540,000 25,000
FOEHOAIL &S5 565,000 540,000 25,000
AR F0=E ALY 465,000 440,000 25,000
401 Al HI L 20 Y| 465,000 440,000 25,000
01 Al &bl 460,518 435,788 24,730
OFBHAHOE=E &H FHIESA 24,730,000 24,730 0 24,730
03 Al& 201l 4,482 4,212 270
OFEUHNOIESE &H HEISAM
25,000,000& *1.08/100 270 0 270
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> A
A & 0l & AF 2 E A A
20158 =3 2 3] LE ) EE ~ EFH
SA: 8F0
M AR XNIEHY
Sl FolEOAAYL 2E EERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
EF 835,986 810,986 25,000
22 KGRy 647,181 622,181 25,000
QBN &5 647,181 622,181 25,000
A2 U= ALY 535,000 510,000 25,000
401 AIEHI L 20 535,000 510,000 25,000
01 A& HI 529,330 504,600 24,730
Y Xot=g(Mdx5) 24,730,000& 24,730 0 24,730
03 AlE SR THHI 5,670 5,400 270
O=4Y Kot (&%)
25,000,000 *1.08/100 270 0 270
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